RETAS RE#ESE ZOlIdE=HT 02
1. XORXRZHNESREE L. (S35 108, A4y, BRI 208, C#H75)

(1) 2%+ 32y +2y% — 20 — 4y

(2)  4x? —4day—3y°> — 10+ Ty +6

(3) 222 + 4% 4 222 — 32y + 3yz — bzw
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2. ROXZHNEBOEEX. (SH3 T 108, Afdsy, B#H53208, C#745)

(1) 2> +zy—29° -4z +4y

(2)  4a? —day—3y® — 122 +2y +8

(3) 222 4 y? — 622 — 3zy +yz + 22
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RETFAN EBAE SHOTEHT 02 FHERH

1. XORXRZHNESREE L. (S35 108, A4y, BRI 208, C#H75)

* e EHIFOAK
acz?® + (ad + be)x + bd = (ax + b)(cz + d)

a >< b — be

c d — ad

ad + be

(1) 2%+ 32y +2y% — 2v — 4y
=224 30y —20+ 2% —4y < IZOVLTHEXRZDIEIZIERS

=22+ 3y — 2z +2y(y —2) < EFTED KBS E

1 2y — 2y
—{z+ Qe+ (y—2)} <rTEHT 1 > y—2 — -9
3y—2

=(z+2y)(z+y—2)

(2)  4a? —day—3y° — 10+ Ty +6
=42% — 4oy — 102 — 32 + Ty +6 < 2 XDV THEXREDIHICIERS
=422 + (—4y — 10)z — (3y*> — Ty — 6)

1 -3
=42? + (—4y — 10)z — (y — 3)(3y +2) < EHBHDOHREIHRE 3 >< 2

2 y—3 —
=22+ (y—3)}H{2x — By +2)} <7TEHTF 2 >< -By+2) —

=QR2x+vy—3)(2zx — 3y — 2)

(3) 222+ 9?4222 — 3wy + 3yz — Hew
=222 —3xy —bzx + 9> + 3yz + 222 < IZOVTHEREDIHEICIR D

=222 4+ (=3y — 52)x + (y? + 3yz + 22?)
=222+ (=3y —b2)z+ (y+22)(y + 2) < ELIHORL I E

1 —(y+2z) —
={z—(+2)H{2w - (y+2)} <LTEHT 2 >< -(y+2) —

— 2

2y —6
—6y — 4
—4y — 10

—2y — 4z
—y—z

—3y — 5z

=(x—y—22)2z—y — 2)
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2.

RORZENE R X, (SH3 T 108, Afk4asy, B5320%, C#H74)

(1) 2> +zy—29° -4z +4y

=224y —4do— 2% +4y <2 IZOVTHERZDIHICIENRS
=2+ (y—4r—2y(y—2) < EBHOREE

1 -y — -y
={z+(—yHr+2(y—2)} <LTEHT 1 >< 2y—2) — 2y—4

y—4
=(@-y)(z+2y—-4)

(2) 42? — 4oy —3y? — 122 +2y + 8

=42% —day — 122 - 3y? + 2y +8 < 2 IOV TERZDIHICIR 2
= 42?4+ (—4y — 12)x — (3y* — 2y — 8)

1 -2 — -6

=42’ + (—dy — 12)z — (y — 2)(By +4) < EBCHDOHREGE 3 >< 4 — 4
—2

2 y—2 — 2y —4

={2z+(y—2){22 — By +4)} <HTHEHT 2 >< -By+4) — —6y-—38
—4y — 12

=QR2x+y—2)(2z — 3y —4)

(3) 222 + 9% — 622 — 3y +yz + 22

=222 —3zy+ 2 +y° +yzr—622 <z IZOVLTHERZDIEICIENRS
=222 + (=3y + 2)z + (y* + yz — 62?)
=222+ (=3y +2)x + (y — 22)(y + 32) < ELFHD KK i

1 —(y—22) — —2y+4z
={z—(y—22)}{2z — (y+32)} <TEHEIT 2 >< —(y+32) — —-y-—3z
=3y +z

=(x—y+22)2x —y — 32)
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